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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 ) Answer the following questions in one or two sentences. 07
(1) Who uses special words? Why?
(2) Why was the penalty kick awarded in favour of Santos?
(3) What does a space camera do?
(4) How did Rip Van Winkle amuse himself in his hotel room?
(5) What is the function of a robot gripper?
(6) What gave rise to organized safety movement?
(7) What does an entrepreneur do for others?
(b)  Write short notes: (Any Two) 07
(1) First generation robot and modern robot
(2) Leadership of entrepreneurs
(3) Jobsite Survey
Q.2
(@  Answer the following in detail. (Any Two) 07
(1) Character sketch of Denis
(2) Astrologer’s Meeting with Guru Nayak
(3) The friendship between Sue and Johnsy
(b)  Use the following phrases in sentences of your own: 07
bumper to bumper, give off, peer into, to be lenient to, a piece
of advice, in stead of, intent upon
OR
(b)  Use the following pairs of words in your own sentences: 07
amazing — amassing, picture — pitcher, device — devise, peer — pear,
censor — censure, laser — lesser, story — storey
Q.3
(@  Answer the following in detail. (Any Two) 07
(1) What is Denis accused of?
(2) Robots have certain advantage over men and women.
What are they?
(3) What is holography? How does laser help it?
(b)  Give one word of the following: 07
(1) top or highest point
(2) severe trial
(3) run slowly and steadily
(4) object shaped like a ball
(5) a very tall building
(6) a mischievous trick
(7) ability to change easily
OR
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Answer the following in detail.

(1) What difficulties do college students face?

(2) How did Pele manage to calm down after initial disappointment?
Match the words of list A with their meaning in list B

A B
(1) adequate (of) the management of public money
(2) instruction helping; causing to bring about
(3) contribution big and strong
(4) husky to burst with loud noise
(5) financial satisfactory
(6) prevention act of teaching or educating
(7) explode act of stopping

Insert correct prepositions:

(1) It has been raining the morning.

(2) The Second World War ended 1945.

(3) He was standing the tree to avoid the hot sun.
(4) The maid servant led the guest the lounge.

(5) Half of the population died cholera.

(6) The Johns are proud their children.

(7) The managing director was absorbed planning.

Put a, an or the where necessary:

(1) Telex looks like typewriter.
(2) My friend has become politician.
(3) man is a social animal.
(4) Mary is beauty.
(5) Ramayana is a sacred book for Hindus.
(6) He is playing tennis tournament.
(7) Psychology is science.
OR

Change into passive:

(1) They invited me to give a talk on ‘participative management’.
(2) Bulldozers have knocked down the buildings.

(3) People are criticizing the collector for corrupt practices.

(4) You can turn off the power here.

(5) The Government has given up the project to build the road.
(6) They promised us higher wages.

(7) The Embassy refused Suresh a passport.

Rewrite the following sentences choosing the correct verb from the
bracket:

(1) Itis I who (is, am) to blame.

(2) All of the oil (has, have) been stolen.

(3) Either the cement or the sand (is, are) bad.

(4) Apple pie and custard (is, are) my favourite dish.

(5) None of them (attends, attend) to their work these days.

(6) The pair of scissors (belong, belongs) to me.

(7) There (was, were) several people in the adjoining room.

Read the following passage carefully and answer the questions given
below it.
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Q.5

(b)

(a)
(b)

India has a very high potential for wind energy utilization. Several
high wind density areas have been identified. Considerable amount of
work in tapping this resource is in progress. Several models of wind
pumps have been developed and installed throughout the country.
Regional wind energy test stations for technology adaptation, performance
evaluation, testing and training have been set up by the Department of
Non-conventional energy sources, Government of India, with a view to
encouraging development and adaptation of wind pumps and small battery
chargers. A good deal of work to convert wind energy into power has been
done, and a number of systems have been set up at Puri (Orissa), Okha
(Gujarat), Tuticorin (Tamilnadu) etc.

Questions:
(1) What does India have?
(2) What have been and installed throughout the country?
(3) Who encourages the development of and adaptation
of wind pump?
(4) Where have the number of system been set up in India?
(5) How much work has been done to convert wind energy
into power.
(6) Use the following words in sentence (a) potential,
(b) throughout
(7) Give synonyms of the following: (a) good, (b) progress

Write précis of the above passage to one third to its original length
and give a suitable title to it.
OR

Form a dialogue between two friends about vacation plan after completion
of examination.
Combine the following pairs of sentences using suitable connector:
(1) (a) The miner collects a lamp from the lamp room.

(b) He goes to the pithead.

(2) (a) Mercury is never easily visible.
(b) 1t may sometimes be seen without a telescope.

(3) (a) Give us all the help. (b) Stop criticizing us.

(4) (a) Work hard and achieve the goal.
(b) Give up the challenge or accept the defeat.

(5) (a) The teacher is lazy. (b) The principal likes her.
(6) (a) He had decided not to go. (b) Later on he changed his mind.

(7) (a) The carpenter is an old man. (b) He worked for us last year.
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